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General Instructions :
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2.

@

Answers of all questions are to be given in the Answer-Book given to you.
15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.
Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.
For the objective-type of questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to you.
All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.
Write your Question Paper Code No. 67/S/ A-A on the Answer-Book.
(@) The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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(i)  This question paper consists of Four Part viz. “‘A’, “‘B’, ‘C’ and ‘D’ containing 36 questions.
(i) All questions are compulsory.

(i) Read the instructions carefully before attempting questions.

PART - A/ 41T - A

Multiple Choice Questions. 10x1=10
agﬁwﬂ'a pPEal

What is an ESCA ?

(A) Empathy, Search, Cognitive, Advice

(B) Empathy, Search, Collect, Advice, Surname

(C) Empathy, Searching, Confronting, Advising

(D) Empathy, Simple, Coordinate, Active

ESCA 11 87

(A) WEIYLd, QIS GAMIcHS, Hellg
B) WREYM, @IS, THAT, s, 3T
D) WeYfd, T, TH<d, 9ishY

2. Which act lays down conditions for layoff and retrenchment of workmen ?
A) Industrial Dispute Act, 1947

B) Minimum Wages Act, 1948

C) Workmen’'s Compensation Act, 1923

D) The Factories Act, 1948

iEr rfafem il ot St iR Pt & fog v fauifa s €2
(A) it foarg sfufem, 1947

(B) =IAan "l Afufem, 1948

(C) wH=R gfde sAfufem, 1923

(D) shR@MT AIH, 1948

EI%E
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3.  Who gave the 4 Quadrants Model for Time Management ?

(A) Stephen Richards Covey (B) David Kolb
(C) Richards (D) Steve Butler
I yaYH o T 4 Iq4s Aiea feead fean?
(A) e =gy & (B) <fae whicd
) f==H (D) wE T

4. A Leader is the one:
(A) One who orders (B) One who Leads
(C) One who manages (D) One who supervises
ERIEIEEEE
(A) ST Y IAE (B) S g LT &
(C) T S WeitH Hidl § (D) % S TSI el §

5.  Which punctuation mark is used to express a sudden reaction (surprise or shock) ?
(A) =7 (B) ? © ! D)
ST Tl (= = HeH1) e G & forg forw o =61 Wi fopan wman €2
(A) =7 (B) ? © ! D)

6.  Which tab consists of the option to insert the hyperlink ?

(A) Insert (B) References (C) Home (D) Layout

TERfc® e 1 fashey forg 2o § B 72

(4) T (B) W © ™ (D) wemse
7.  How many reference techniques are available in the spreadsheet ?

(A) One (B) Four (C) Five (D) Two

deviie § fora T Tohich STaed & ?

(8) T (B) =R (©) = (D) @
8.  Which of the following is not a component of entrepreneurship ecosystem ?

(A) Business Environment (B) Funding and Finance

(C) Mentors and Advisors (D) Employee Quality

Frefafed o 9 % 91 Saftd Rk 7 1 e & o 2

(A) SHEHIFh SER (B) hfew iR fam

(C) TeTh IR HAGHR (D) SHHSRT TOTer

EI%E
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9. (SR stands for :
(A) Complex Social Responsibility =~ (B) Corporate Skills Responsibility
(C) Corporate Social Responsibility (D) Culture Social Responsibility

i T AN 1 Haoe F1 R ?

(A) Sfed FMIFeH ITEIIE (B) fwifia = ST

(C) Trifaa wrfsie IweTfama (D) HERfd AEIRSH IS
10. Environmental factors include :

(A) Customer Value (B) Ethical Factors

(C) Disposable Income (D) Employment Law

e ekl § WAMHA © -

(A) TTEh I (B) feh ek

(C) WIST ™ (D) USFIR A

PART -B/HT - &

Very Short Answer Questions. 10x2=20
fer -3 ugT |

11. Explain the active experimentation learning mode.

Tfeha TAmT ST dgfa ol ausmed |

12. Define the term empathy. For what purpose empathy is used in the professional and personal
spaces ?
TR IR h! TRATMYG FITS | SATEgeh SR SAfRT T TR TEHY 1 ST 68 382 9
fopa T 82

13. Explain effective communication ? What will be results of miscommunication ?

YTl R ! ST ke 7 TToid HoR & oy =1 g ?

14. How skimming is different from scanning ?

feenftT, TR & 8 i 82

15. Punctuate the given sentence appropriately : Whoever thought said the Professor that a
maid without proper schooling cannot write a book was proved wrong.

feu U oo | Sfua fag o T : Whoever thought said the Professor that a maid without
proper schooling cannot write a book was proved wrong.

16. What is digital identity ?
fefsteet wemm o &2

EI%E
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17. Explain a concept of cloud computing with the help of an example.

Teh ISBLUT ! TR 9§ FARE h[eT hi TR hl THART |

18. How to file Cyber Crime Complaint ?
TIgeR ST Y R Fl g1 B ?

19. Kanika operates her business from Agra. She has to get herself registered for GST if her
business crosses the threshold limit of ¥ 20 lakhs. Her friend Shriya who has her business in
Haridwar also wants to know the threshold limit in her State. Help Shriya to find the
threshold limit decided by GST Council in Haridwar ?

hieRT 79T foome 3T | TeTfeld il €1 Afe SHehT HaHr™ 3 20 ARG hi HHET YR L ST7aT © d
¥ e HI S TE 3 F fou uSiigha O e et e e, feme efigr § sraam §, oft st
T H 1 ST et €1 gRgR H St U 3 ufiug R 99 it T8 USTen<ol AT o 9ar o | e
! ASE R |

20. What is LESE ?
LESE 1% ?

PART - C/ T - §

Short Answer Questions. 10x4=40
-3 T

21. Explain the ESCA model of conflict resolution.
TEY GHIYE & § T T T AiSe i AT &1 |

22.  Why time management is considered as an integral part of life ?
THA Yel g h Sfta b1 A= ST R HE S 2

23. Explain the five-step model for giving constructive feedback.

T Gidishan o1 & feTu gi=9-<Ruiig "ied i Same i |

24. Complete the given sentences by filling the correct form of verb tense :

(a) Rishabh (work) in the restaurant industry for ten years.

(b) Beforehe (establish) his company, he did not known how to use a computer.
() Anu (learn) to use the computer.

(d) Ambani business (be) quite successful.

ToRan STt AT TR ®Y WReR T T el bl U Y

(a) Rishabh (work) in the restaurant industry for ten years.

(b) Before he (establish) his company, he did not known how to use a computer.
() Anu (learn) to use the computer.

(d) Ambani business (be) quite successful.
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25. Differentiate between an article and report.

T o9 3R fUE & o9 T i |

26. What is a system software ? Explain the various category of system software.

fgeen gireaex =0 § 7 faed wiweasr st fafi=1 Sofiai sl aw9emed |

27. Ritwik has just started his new online business of clothing in Delhi. What are the different
net etiquettes rules that he should follow while dealing with his customers ?

Fiash A B B H feoel | IS S T T AR FoH™ YE Rl §1 e ReER & [ 9
fafy= fram € S S8 199 Ueehl & WY SRR Hid THY UIeq il =1en ?

28. E-commerce is a subset of the wider concept of e-Business. Do you agree ? Please explain in
detail.

3-hd, 3-Toog 1 AU TR T T STTHE T 1 1 379 HeHd § 2 FH91 foar § «&and |

29. We all are part of a society; nothing can exist outside it. Do you agree ? Explain various
social factors affecting a business.

79 9t Tk g 1 ferm §; 30 o) 9 off i | 7 € Wehar| o o7y UeHd § 2 feRdt
YT ! FHIfad Hid ol fafy= qrfsies SRehl i < & |

30. A successful entrepreneur has certain traits, skills and qualities. In the light of the given
statement, explain a various key trait of an entrepreneur.

Th Tl ST & T F9 01, Hivret 31 fosioand gt €1 e 7T Fem & 3Tei |, T SaHt &
fafy= w@ @&l =it s Y|

PART - D/ T - T

Long Answer Questions. 6x5=30

e -sodtE we |
31. Ritika is working for a large manufacturing unit. She was removed from service without

giving any notice. Under which law she can take the action against the manufacturing unit ?
Explain the provisions of law.

Rfqert wa st fafmio s & fow m = @ g1 3% fo #E Aifew fou Al & ga1 fean wn ) =g
fF8 I % dga fafTaion s & faes HRAE F Fhdl © 7 T 6 TG ! TR |

32. Lifeis a triangle between attitude, behaviour and values. With the help of a suitable example,
explain how personal values, attitudes and behaviours are connected to one another with
respect to making decisions.

e gfteshion, SHaeR 31 godi o foa T o €1 T SUge Sl i Feral § oaid o fufg
T % Hay H AfaTa god, e R SJaeR Th g 3 i IS gL e
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33.

34.

35.

36.

Success in interview depends on one crucial element - preparation. What are the important
points a candidate needs to considered while preparing for an interview ?

&R H TRl Teh FEeEqUl ae T e il € - T | HIacehR &l T hid 999 T
SHHiGE i el Heerqul feigadl W forem s =fey ?

Do you think PowerPoint gives you the ability to view the presentation in different ways ? If
yes, explain the different ways to view the presentation.

WWW%%FPOWMPOM mmﬁﬁwm@é@ﬁﬁwéﬂ%7 ?TFG'ET,
Al USievH @A & fafi= aiehl =) =me i |

Explain the various managerial functions of an entrepreneur. Explain the terms for better
understanding highlighting at least four differences between a mission statement and a vision
statement.

Teh 3t & fafy= geieeha =l i =me i | e geae iR foei geqed & o9 &8 § &8 91
AR W YHIT BT |

What do you understand by business incubation ? Also discuss the process of business
incubation.

IR 3ga U 37T R GHEd § 2 HaEd Iga &I Ffehar 7 off == i |
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